HREX—TIK1 (A4 A

SH6E5A%
SULSATERKE CGREAE) KEHRBRERBREE GERE)
oK 8:30
KEHBHRE (BLIEKE HKHF (EK )
B Xz SE | KE | A E pH |7ILAY| BE | #F |(&iw| &% TV | B
E BEM| A4 "o
°C °C B mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 = 19.0 17.2 9.5 1.77
2 ) 12.5 15.5 15.0 1.67
3 B 12.0 15.3 24.2 7.59
4 & 15.0 16.8 1.7 1.70
5 & 18.0 17.1 8.2 7.64
6 ) 14.5 17.7 6.5 7.66
7 [55] 18.5 16.3 6.7 1.75 51.2 | 67.6 142 5.2 0.26 0. 02
8 ) 13.0 16.6 6.9 7.76
9 [55] 12.5 17.1 8.0 1.79
10 & 10.5 15.3 1.2 7.69
11 & 13.5 16.0 11.3 7.68
12 & 16.0 17.3 10.9 7.66
13 [55] 17.5 16.7 5.9 1.74
14 ) 15.5 15.2 95.6 7.56
15 B 14.0 16. 4 39.4 71.62
16 ) 17.0 16.8 22.1 7.66
17 & 12.0 16.5 24.8 1.71
18 & 15.0 16.8 17.1 7.66
19 = 16.0 17.8 15.2 7.69
20 5] 15.0 16.2 8.4 1.70 44.8 | 61.4 165 49| 0.50 0.02
21 B 13.5 16.9 95.6 7.54
22 ) 15.5 18.7 40.2 7.66
23 = 12.5 17.6 27.3 1.67
24 & 18.0 17.6 19.0 7.64
25 B 21.0 19.2 13.3 7.65
26 ) 18.0 18.5 9.3 7.65
217 = 17.5 17.2 1.1 1.72
28 5] 22.0 18.8 11.0 1.75
29 = 18.0 17.9 532.0 1.73
30 i 18.5 17.9 190.0 7.56
31 [55] 18.5 17.8 100.0 7.65
Ty 15.8 17.1 45.2 1.67 48.0 | 64.5 154 5.1 0.38 0.02
== 22.0 19.2 532.0 1.79 51.2 | 67.6 165 5.2 0.50 0.02
=IE 10.5 15.2 5.9 1.54 44.8 | 61.4 142 4.9 | 0.26 <0.02




HREX—TIK1 (A4 A

SHM6ES5AH
ALSATERKE GREAE) KEHARBRBEE FEE)
FROKBFRE 8:30
KEHBHRE (BLIEKE HFKt (GFK )
B Xz SE | KE | A E pH |ZILAY| BE | #F |(&iw| &% EOZ2NR - -]
E BEM | A4 HY
°C °C B mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 = 19.0 17.5 0.4 7.54

2 ) 12.5 16.5 0.4 7.58

3 & 12.0 15.8 1.7 1.42

4 & 15.0 15.8 0.9 7.44

5 & 18.0 16. 4 0.7 7.50

6 ) 14.5 17.0 0.7 7.62

7 [55] 18.5 17.0 0.8 1. 61 47.8 | 64.5 130 55| 0.04 0. 02
8 ) 13.0 16.7 0.5 7.64

9 [55] 12.5 17.1 0.8 1.75

10 & 10.5 16.0 0.8 7.65

11 & 13.5 15.9 0.8 7.60

12 & 16.0 16.9 0.9 7.60

13 [55] 17.5 17.4 0.9 7.68

14 ) 15.5 16.5 1.4 7.46

15 B 14.0 16. 4 1.0 1.25

16 ) 17.0 17.0 0.6 1.4

17 & 12.0 16.6 1.0 7.45

18 & 15.0 17.0 0.7 7.51

19 = 16.0 17.5 0.5 7.56

20 58] 15.0 17.0 0.6 7.58 44.3 | 61.3 168 5.9 0.02 <0.02
21 B 13.5 17.2 1.5 1.37

22 ) 15.5 18.4 1.2 1.37

23 = 12.5 18.4 0.6 7.44

24 & 18.0 18.1 0.7 7.48

25 & 21.0 18.3 0.7 7.50

26 ) 18.0 18.9 0.7 7.55

217 = 17.5 18.6 0.8 7.56

28 5] 22.0 19.0 0.8 7.55

29 = 18.0 18.6 1.0 7.51

30 i 18.5 18.7 0.4 7.18

31 [55] 18.5 18.6 0.6 7.34
Ty 15.8 17.3 0.8 71.51 46.0 | 62.9 149 571 0.03 <0.02
== 22.0 19.0 1.7 1.75 47.8 | 64.5 168 5.9 0.04 0. 02
=IE 10.5 15.8 0.4 7.18 44.3 | 61.3 130 5.5 0.02 <0.02




